
Simple Regression: Residuals versus Predicted 2016 HR
 

Analysis of Variance
Source DF Adj SS Adj MS F-Value P-Value
Regression 1 0.0 0.0000 0.00 1.0000
Error 254 12082.3 47.5683
Total 255 12082.3

 

Model Summary
S R-sq R-sq(adj)

6.89698 0.00% 0.00%

 

Coefficients
Term Coef SE Coef T-Value P-Value
Constant 0.000 1.223 0.00 1.0000
Predicted 2016 HR 0.00000 0.06357 0.00 1.0000

 

Regression Equation
Residuals = 0.000 − 0.00000 Predicted 2016 HR

 



Fits and Diagnostics for Unusual Observations
Obs Residuals Fit Resid Std Resid   
3 22.13581834 0.00000000 22.1358 3.22 R
20 -1.904656678 0.00000000 -1.9047 -0.28 X
26 14.97752575 0.00000000 14.9775 2.18 R
35 14.09137616 0.00000000 14.0914 2.06 R
54 -1.179191258 0.00000000 -1.1792 -0.17 X
84 7.064280351 0.00000000 7.0643 1.04 X
107 15.56098817 0.00000000 15.5610 2.27 R
109 16.1624485 0.00000000 16.1624 2.35 R
135 -9.919028587 0.00000000 -9.9190 -1.46 X
139 2.894907787 0.00000000 2.8949 0.43 X
153 17.28837956 0.00000000 17.2884 2.52 R
156 5.365892744 0.00000000 5.3659 0.79 X
171 21.66612774 0.00000000 21.6661 3.15 R
172 -18.77618081 0.00000000 -18.7762 -2.73 R
186 -14.36841523 0.00000000 -14.3684 -2.09 R
187 14.31754951 0.00000000 14.3175 2.08 R
188 -9.580224839 0.00000000 -9.5802 -1.42 X
202 -11.08847839 0.00000000 -11.0885 -1.63 X
209 17.47487513 0.00000000 17.4749 2.54 R
211 13.80292122 0.00000000 13.8029 2.01 R
225 -14.13421362 0.00000000 -14.1342 -2.06 R
232 6.545098959 0.00000000 6.5451 0.96 X

R Large residual
X Unusual X

 



Fitted Line Plot for Linear Model
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Versus Order
(response is Residuals)

1 26 52 78 104 130 156 182 208 234

-20

-10

0

10

20

Re
si

du
al

Observation Order

Normal Probability Plot
(response is Residuals)
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Histogram
(response is Residuals)
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